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C | CMS | © mg/L me/l | mg/ | mgll | mgll | mell | mg/LGKFZ | BrHIYE) | By | em25°C | f#/100mL U | 3 (mgn| |1
AR Eo VAL RI3 "6 1 8/16 [10:30 | 35.6 21.6 7.7 82 N.D<0.006 0.8 N.D<3.0 154 N.D<0.001 0.05 N.D<0.02 0.02 196 5.7%10° 0.04 | 59 | 3.0 | 260 22
= ERCS TRl R14 201 8/16 | 11:00] 31.7 26.2 7.5 8.8 0.02 | N.D<0.6 | N.D<3.0 34 N.D<0.001 0.06 N.D<0.02 0.03 136 2.9%10° 003 | 50 |>30 |21 18
AERE i%ﬁﬁ R17 20| 8/16 | 11:1030.8 25.5 72 82 N.D<0.6 33 16 0.010 N.D<0.01 N.D<0.02 0.008 130 8.3%10° 003 | 60 [290 | 5.8
S5 HJEEUﬁ RI18 20816 |11:25] 274 24.8 7.5 82 N.D<0.6 | N.D<3.0 5.6 0.005 N.D<0.01 N.D<0.02 0.01 110 2.1%10° 002 | 58 |>30] 10
ey TESREIVL R21 20| 8/10 [11:00] 31.3 28.9 74 8.0 0.03 | N.D<0.6 | N.D<3.0 3.0 0.006 0.02 N.D<0.02 N.D<0.002 275 1.0%10° 0.04 11 >30 | 1.9 84
S ks ’\’rﬁ R22 201 8/10|10:35] 31.4 29.2 7.7 82 0.04 | N.D<0.6 |[N.D<3.0| ND<20 0.001 N.D<0.01 N.D<0.02 N.D<0.002 101 2.9%10° 0.03 11 >30 | 1.3 5.6
RIS P Jb%‘%ﬁ R23 &0 18/10(10:20] 32.5 29.7 6.8 8.3 ND<0.6 | 43 2.7 0.006 0.02 N.D<0.02 N.D<0.002 138 4.0%10° 0.05 18 | 30| 1.6
SREuE W;Il%ﬁ R24 0| 810 [10:27] 327 28.8 73 8.4 0.6 34 ND<2.0 0.008 0.04 N.D<0.02 N.D<0.002 436 6.0+10° 0.08 16 | 30 | 24
ﬁJ%ﬁﬁ{ ﬁ\l%“ﬁf,i{lﬂ/’ﬂf R31 0| 8/17 [ 10:40 30.0 26.7 72 7.5 0.008 | N.D<0.6 3.0 3.1 N.D<0.001 0.04 N.D<0.02 0.02 101 4.5%10° 0.03 | 10.0 | >30 |0.80 10
f,lii?{ ’uﬁﬂ:'—?u'ﬂf R32 201 8/1710:05] 31.6 30.0 79 83 0.02 | N.D<0.6 | N.D<3.0 2.6 N.D<0.001 0.02 N.D<0.02 0.01 146 45410° 0.04 | 100 | >30 | 14 15
E e LUUES R33 "6 1823 |11:20 30.2 29.4 7.1 8.0 0.007 | N.D<0.6 | N.D<3.0 23 N.D<0.0005 N.D<0.005 0.001 N.D<0.003 136 1.0%10° 003 | 70 | >30]| 3.6 20
LR ‘?l;,J REIV AL R34 8/23 |10:50 | 33.1 27.1 6.8 8.5 0.02 | N.D<0.6 | N.D<0.3 44 N.D<0.0005 N.D<0.005 0.001 N.D<0.003 109 7.0%10° 0.03 82 | 3013 10
TIPE Ev,’ﬁwfg RO1 20| 82 |11:15] 301 28.0 73 42 14 81 12 0.003 N.D<0.01 N.D<0.02 N.D<0.002 440 1.1%10° 18 72 |30 | 72
IR ’J"uf‘vﬁﬁ] RO2 20| 82 110:00] 29.4 28.9 73 54 79 56 10 0.005 N.D<0.01 N.D<0.02 N.D<0.002 379 7.1%10° 12 35 | >30 | 43
R 8 (! ’ié"éﬁ RO3 20| 82 [10:30] 29.8 29.1 75 5.4 18 83 8.8 0.005 N.D<0.01 N.D<0.02 N.D<0.002 420 2.1%10* 11 45 1290 | 7.6
FR[ HE 15 i RO4 0| 82 |10:45] 29.9 29.0 79 8.0 46 48 9.7 0.003 N.D<0.01 N.D<0.02 N.D<0.002 434 3.1#10" 25 34 | 30 | 54
@%ﬂfhiéﬁ ;’i{‘%ﬁ ROS B 8/3 |10:05| 36.8 33.1 79 0 131 454 352 0.008 0.03 7.3 0.90 1650 6.5%10° 36 243 130.0 | 300
@;”Fr,lﬁ'ui;{ &‘F’}hﬁf%ﬁ RO6 20| 83 109:50 36.7 32.7 83 8.8 4.1 54 35 N.D<0.001 N.D<0.01 0.07 0.17 407 2.3%10° 1.2 38 [120] 35
Bt P~ ﬁ RO7 B 8/3 |10:25| 34.9 33.0 7.8 35 30 41 50 N.D<0.001 N.D<0.01 0.06 0.26 550 8.2¢10" 8.4 31 | 120 | 36
TEHIE l&‘?‘ﬂrﬁ RO8 201 83 |10:47] 36.1 345 7.8 72 28 153 32 0.003 0.02 1.1 1.0 512 7.1#10" 1.7 39 160 29
AE[HIE *fb‘ﬁ R09 B 8/3 | 11:05| 34.9 33.1 8.0 6.6 15 82 16 0.003 N.D<0.01 0.33 0.06 766 4.3%10° 7.2 102 {280 | 13
AR Hag L’[’}ﬁﬂi'{{’rﬁ R10 2083 | 11:15]35.0 33.8 8.1 79 14 71 20 0.005 N.D<0.01 0.17 0.10 652 4.4%10° 24 &2 | 190 | 18
P’rgﬂg’; ﬁig’;ﬂgw’ﬂf RI1 FTo| 89 109:50(33.3 272 8.5 8.8 0.05 | N.D<0.6 | N.D<3.0 94 0.006 0.03 N.D<0.02 N.D<0.002 86 3.0%10° 005 | 94 |50 | 120 12
;9?’[&7‘;{ ﬁ!ii,‘ii{fd?u <p RI12 fr 8/9 {10:20]33.0 26.5 78 8.8 0.04 | N.D<0.6 34 105 0.008 0.01 N.D<0.02 N.D<0.002 85 1.8%10° 004 | 88 80 | 95 12




